[image: ]
[image: ]
[bookmark: _GoBack][image: ]
[image: ]
image1.png
Question1 2 pts

Calculating Taxes

A firm had $1535340 in taxable income.

Using the rates from Table 2.3 in the chapter, calculate the company’s income taxes.
Do not round intermediate calculations.

Round your answer to the nearest penny.

Toxabloncome Tox e

$ [ 50,000 15% Corporate tax rates

50,001- 75,000 25
75001- 100,000 34
100,001~ 335,000 39
335001- 10,000,000 34
10,000,001- 15,000,000 35
15,000,001- 18,333,333 38
18,333,334+ 35

Question 2 2 pts

Tax Rates

A firm pays $61,250 on taxable income of $200,000.

What is the average tax rate?

Do not round intermediate calculations.

Round your answer to the nearest tenth of a percent.

Question 3 2 pts

Tax Rates
A firm has taxable income of $500,000.

What is the marginal tax rate?

Do not round intermediate calculations.

Round your answer to the nearest whole percent.
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Building an Income Statement

Billy’s Exterminators Inc has sales of $761439, costs of $337416, depreciation
expense of $62411, interest expense of $63614, and a tax rate of 31 percent.

What is the net income for this firm?

Question 2 2 pts

Dividends and Retained Earnings

Suppose a firm with net income of $517124 paid out $221932 in cash dividends.
What is the addition to retained earnings?

Do not round intermediate calculations.

Round your answer to the nearest whole dollar.

Question 3 2 pts

Per-Share Earnings and Dividends 1

Suppose a firm with net income of $847985 has 71737 shares of common stock
outstanding.

What is the earnings per share, or EPS, figure?
Do not round intermediate calculations.

Round your answer to the nearest penny.

Question 4 2 pts

Per-Share Earnings and Dividends 2

Suppose a firm with net income of $637535 paid out $191960 in cash dividends and
has 62603 shares of common stock outstanding.

What is the dividends per share figure?
Do not round intermediate calculations.

Round vour answer to the nearest penny.
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Question 1 2 pts

Calculating OCF

A firm has sales of $173919, costs of $27226, depreciation expense of $6280, and
interest expense of $9108. If the tax rate is 35%, what is the operating cash flow, or
OCF?

Do not round intermediate calculations.

Round your answer to the nearest penny.

Question 2 2 pts

Calculating Net Capital Spending

A firm’s Year O balance sheet showed net fixed assets of $2648959, and the Year 1
balance sheet showed net fixed assets of $3214872.

The company’s Year 1 income statement showed a depreciation expense of $327824.
What was net capital spending for Year 1?
Do not round intermediate calculations.

Round your answer to the nearest dollar.

Question 3 2 pts

Calculating Additions to NWC

The Year 0 balance sheet of Greystone Inc showed current assets of $3888 and
current liabilities of $1452. The Year 1 balance sheet showed current assets of $4742
and current liabilities of $2137. What was the company’s Year 1 change in net working
capital, or NWC?

Do not round intermediate calculations.

Round your answer to the nearest dollar.
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Question 4 2 pts

Cash flow to Creditors

Afirm’s Year O balance sheet showed long term debt of $2323370 and the Year 1
balance sheet showed long term debt of $1728517.

The Year 1 income statement showed an interest expense of $218890.
What was the firm’s cash flow to creditors during Year 1?
Do not round intermediate calculations.

Round your answer to the nearest dollar.

Question 5 2 pts

Cash flow to stockholders

A firm’s Year O balance sheet showed $726665 in the common stock account and
$4143454 in the additional paid-in surplus account.

The Year 1 balance sheet showed $753691 and $5426286m in the same two
accounts, respectively.

If the company paid out $581687 in cash dividends during Year 1, what was the cash
flow to stockholders for the year?

Do not round intermediate calculations.

Round your answer to the nearest dollar.

Question 6 2 pts

Calculating total cash flows

Given the information for Maria’s Tennis Shop Inc in problems 11 and 12, suppose you
also know that the firm'’s net capital spending for 2011 was $1,300,000 and that the
firm reduced its net working capital investment by $55,000. What was the firm’s 2011
operating cash flow, or OCF?




